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� �������� ��
M� ��� �������� 	��P(M)� >�{M ' |�M '� ⊆ �M}�� 2��� ��� ������
��� |X|� ���� ��
���� ��� �
�
����� ��� ���� X�� &�� ��� %����� ��	�
|P(M)| = 2|M|��)�����M� ���	����������������
�
������ �����

���
��	�� P(M)� ��� 	� ������� ����� ����� 2��� ��� ���� ��������� 	�
����	���T: P(M) → P(M) ����� ��	��T(F) = F   {x| x� ��
	� ���� �
�
���� ���	����� 	�� 	� ��
���	����� ��� ���"����� ���
������� �
�
����� ���
� M}�

2��� ��� ��������� 	�� �����	
� ���� ��� �
�
����� �������� ��
F

1
�� ?�� 	��
�� ���� ����	���� T ���F

1
	��� ���	��� F

2
� >� T-F

1
.�

������������� ��� ����� ����	���� ����	���k ≥�(������ ��	��F
k+1

= T(F
k
)��3�"���V

1
� 	���V

2
� ����	�����	��������������M� ����

��	�� V
1
� ⊆ � V

2
�� ����� ��� ���� T-V

1
.� ⊆ � T-V

2
.�� &�� ��

���� ��	�

F
1
�⊆ �F

2
⊆ �F

3
�⊆ �����⊆ �P(M)�������������	����T����
���������

)����� P(M)� ��� 	� ������� ����� ��� ����
��� ��	�� ������ � ������� 	
k ∈ N -���������	�����N��������������������������"����������.
����� ��	��F

k
 = F

k+1
�� �����
�	���T(F

k
) = F

k
�� &�� ��� �	��� ��

����%����
	���
	���	
� ���������� ��	��T(F
k+i

) = F
k
, ∀ i ≥ 1�

��	�� ��� ����F
k
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��
�� �����
� ������������� �� pushdown automaton� -PDA.�
�������� ��� A�� ��� 	� $����
�� A = (Q, Σ, Γ, δ, q

0
, z

0
, F)�

������ Q� ��� ���� ���� ��� ��	�����Σ ��� ���� ������� ���� ��� �����
��
��
���Γ� ��� ���� ��	�%� 	
��	�����δ� ��� ���� ��	�������� �����
������q

0
� ��� ������	��� ��	����z

0
� ��� ������	��� ��	�%���
��
�� 	��

F ��������������	�����������	�����&��-p��α.�∈ �δ(q, a, x)������
���� 	

� ��������w ∈ Σ∗ � 	���β ∈ Γ∗ � ��� ���� ���� ��

�����
one-step transition� �������� ��������� ��������	�����
(q, aw, Χβ)   (p, w, αβ)�� ���� 
	���	��� 	�������� ��� A
������	
���	������L(A) = {w | (q

0
, w, z

0
) * (q, ε, α)}�������

q ∈ F��ε���������
����������α�����	�����	�%���������	����������
���� ���
���"��	��� ��	�����"���
��������� ���� ��	�������� ��
	����
-
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	���	��� 	�������� ��� A� ��� �
���� ��	�%� ��
N(A) = {w| (q

0
, w, z

0
)�

 
� � � � (q, ε, ε)}�� ���� 	��� ��	��� q�

&�����%�������	�������
	������
	���	����L(A
1
)�������
��PDA

A
1
 ��� ���� �	
��	�� ���� �
	��� ��� 
	���	����N(A

2
)� ���� ��
�

PDA A
2
�

��context-free grammar (CFG)�������������G�� ���	
;����
��G = (V, Σ, S, P)��������V ��� ���� ���� ��� "	��	�
���
Σ � ���� ���� ��� ���
��	
���S� ���� ��	��� ��
��
�� 	���P ���� ���
��� ������������� 2��� α � A� β � ��� 	� ������� ����
α �� β ∈ � (V    T)*�� A ∈  V�� γ ∈ (V 

⊃�

T)*�� 	��
A → γ a� ����������� ��� G�� ����� α A β      �α γ β� � ��
�	

��� 	�derivation step� ���G�� ����� ����"	����� ��
	����� �	�
��� ��������� ��� ���� ���
���"�� 	��� ��	�����"�� �
������
�������� � � � �� ���� 
	���	��� ��� G�� �������� L%G(�� ��
L%G(�= {w | w ∈ T*, S      w}����"	��	�
��X ���	�������
�
��� ������ ������� 	� ����"	����� ���
� ���� ��	��� ��
��
� ��
	� ������� ��	�� ����	���� X �� ��	�� � ���� S     α X β�� �����
α, β ∈ (V    T)*�

���� ��	������	
� ���"������� ���
� 	�PDA� ��� 	�CFG� ��
����� ���
	��� ���
	
� 
	���	���� �������%��� ���
������ �#����

#��
��&� "���� (Theorem 6.14 from [5]) If A is a
pushdown automata, then N(A) is a context-free lan-
guage.

	�

�� &�� ���������

'�&��(� "���� In the above proof, the equivalent
context-free grammar has |Σ| + |Q|2. |Γ| variables and
|Q|k productions for a pushdown transition of type i).
Also, we must add the productions obtained at point ii)
and {S → (q

0
, z

0
, q) / q ∈ Q}. Let us denote by n the

size of the entire automaton representation. Since k can
be quite close to n, it follows that the total number of
productions of G can be nn. There already exist efforts
to reduce this exponential complexity. For instance, one
way to reduce this high complexity is to split all the
transitions containing long strings of stack symbols into
sequences of at most n pushdown transitions that each
pushes one symbol. This will lead to an equivalent CFG
of O(n3) size (details in Section 7.4.1 of [5]).

���� ����� ��	
�
�� �

����	���� ���� ��
�
������ ��� ���
�'��"	
����CFG� ��� 	�PDA�
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���&
��� "���� For the context-free language
L = {0n13n / n ≥ 1}, we consider the pushdown automa-
ton A = ({q

0
,  q

1
, q

2
}, {0, 1}, {x, z}, δ, q

0
, z, Ø),  where

δ is given by:

1. δ(q
0
, 0, z) = {(q

1
, x x x z)};

2. δ(q1, 0, x) = {(q1, x x x x)};
3. δ(q

1
, 1, x) = {(q

2
, ε)};

4. δ(q2, 1, x) = {(q2, ε)};
5. δ(q

2
, ε, z) = {(q

0
, ε)}.

According to the above proof, we obtain an equiva-
lent grammar having 20 variables and 168 productions.

��� 	������	���� ��� 7�
	�%� (���� ���� �'��"	
���� CFG

�����	���� ��� ���� ��	������	
� 	
������
� �	�� ��� "���� 
	����
A�	
�
�� (��� ������ ���� ���"������� ���
� 	�PDA� �	"���� :
��	�����(� ��������
��
���(���	�%���
��
��	���#���	��������
���	�'����� 
	����CFG��	"����(<�"	��	�
���	����9!��������
��������������������������'��"	
����CFG�	�����	��
	���������
"	��	�
��� 	��� ���� 	�������
�� ��� ����"	������ ���
� ���� ��	��
��
��
� S� ��� ��
�� ��� ���� "	��	�
��� ��� ���� �����	��� ���
���
��	
� ������

&�������������
"����������	��	�%�����������������
��
�
������
� I� ��� �

����	��� ���� ������������ 	����	���� � ����
���"�����	��	���������	�
�����
	

���CFG��'��"	
����������
��"���PDA�� ����CFG� ���"����� 	�� ������� �	�� ��
�� 	�����
���
�� "	��	�
���

��%
����&�I

#�����
 �)�A = (Q, Σ, Γ, δ, q
0
, z

0
, Ø)�	����������	���
	���B

#���
 �
 �)�G = (V, Σ, S, P)�	���'��"	
�������������������	

	����������
��	�������
��"	��	�
��B

#���&���
�)

���   V
1
 := ØB�P

1
 := ØB

"�� �� � �
��(all (q
1
, ε) ∈  δ(q, a, X)��������a ∈  Σ   {e})��
�*�%��

+�     V
1
 := V

1
    {[q, X, q

1
]}B

,��     P
1
 := P

1
    {[q, X, q

1
] → a}

� � � � ����

-��   k := 1B

� � � �� � ��
���

.�� �    V
k+1

 := V
k
; P

k+1
 := P

k
B

/�� � � � � � �� � �
�� -all (q
1
, z

1 
z

2
 ... z

m
) ∈  δ (q, a, X), where a ∈  Σ    {ε})��
�*�%��

0�    ok := true;  tempq := q
1
;

1� � � � � �
�� (i := 1; i ≤ m and ok; i := i + 1)��


�2� � � � � � � � ��� (¬∃ q' such that [tempq, zi , q'] ∈  Vk+1)� �����ok := false

� � � � � � � � � � � � �����*�%��

���� � � � � � � � � �   temp[i] := q'; tempq := q'

� � � � � � � � � � � � � � � � � � ���

�"� � � � � ���ok� �����*�%��

�+� � � � �   V
k+1

 := V
k+1

   {[q, X, temp[m]]}B

�,� � � � �   P
k+1

 := P
k+1

     {[q, X, temp[m]] →[q
1
, z

1
, temp[1]][temp[1], z

2
, temp[2]] ... [temp[m - 1], z

m
, temp[m]]}

� � � ����

� � � � � � � � ���� B

�-��   k := k + 1

�.�� �����V
k
 = V

k-1
  and P

k
 = P

k-1
B

�/�� ���(∃ [q
0
, z

0
, q] ∈ V

k
)� �����*�%��

�0� V
k
 := V

k
   {S}B

�1� �
��(all [q
0
, z

0
, q] ∈ V

k
)��


"2� � � �P
k
 := P

k
    {S → [q

0
, z

0
, q]}

� � � � � ����B

"��� �V:= Vk; P := Pk;

⊃�
⊃�

⊃�

⊃�
⊃�

⊃�

⊃�

⊃�
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� �����
����
����"	��	�
�����������'��"	
����CFG�	���������"���
������

I1�� ������������

3�������
��"����We consider the operator,   , useful
for triplets’ composition, thus:

  @� (Q × Γ × Q)2 → Q × Γ∗  × Q

5����� ���� 
���� 	�����	��"���������	��������� ��������	�
���� � � � ��� ���������
���� ����
����� ��	�� � ���� -Q × Γ∗  × Q)m →
Q × Γ∗  × Q, m ≥ 3�� ����� 	�@

[q
1
, u

1
, q

2
]  [q

2
', u

2
, q

3
]    ...    [q

m
', u

m
 , q

m+1
] =

([q
1
, u

1
, q

2
] [q

2
', u

2
, q

3
] ... [q'

m-1
, u

m-1
, q

m
]) [q'

m
, u

m
, q

m+1
]�

#��
��&� "�"�� -correctness and termination of
Algorithm I.� Let A = (Q, Σ, Γ, δ, q

0
, z

0
, Ø) be a

pushdown automaton� which is input for Algorithm I.
After the execution of Algorithm I, then the following
facts hold:

(i) G is equivalent with A (i.e., L(G) = N(A));
(ii) The number of iterations of the Algorithm I is

finite (k ≤ |Q|2 • |Γ|)�

	�

�� &�� ���������

���&
���"�"��We consider the PDA from Example
2.1. for finding the corresponding equivalent grammar,
using Algorithm I instead of the traditional conversion
algorithm.
V

1
= {[q

1
, x, q

2
], [q

2
, x, q

2
], [q

2
, z, q

0
]};

P
1
= {[q

1
, x, q

2
] → 1, [q

2
, x, q

2
] → 1, [q

2
, z, q

0
] → ε};

V
2
 = V1     {[q

0
, z, q

0
], [q

1
, x, q

2
]};

P
2
 = P

1   
 {[q

0
, z, q

0
] → 0[q

1
, x, q

2
][q

2
 , x, q

2
][q

2
, x, q

2
][q

2
, z, q

0
],

    [q
1
, x, q

2
] → 0[q

1
, x, q

2
][q

2
, x, q

2
][q

2
, x, q

2
][q

2
, x, q

2
]};

V
3
 = V

2
;

V
3
 = V

3
   {S};

P
3
 = P

2
   {S� →� [q

0
, z, q

0
]}�

Therefore, following Algorithm I, we obtain an
equivalent grammar with 6 rules and 5 variables (in-
stead of 168 rules and 20 variables obtained using the
usual algorithm)�
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���	%� ���������������	� 
��������������k� ��	�%���
��
�� ����

	� ��'������ ��� 	��
����k +� �� ��	��������� ��	�� �	��� ������
���� ��
��
�� ������ k +� �� ���� ��	��������� ��

� ���������� k
+�(�������	�������������������������'��"	
���������������PDA
�����������
�� 
	����� ��	�� ����������	
�PDA��3�"���	�� ��������
���������"�������	
������
�	������������PDA����
������n�����
�'��"	
����CFG� ��

� �	�� 	�O(n3)� ������ ���� ��	���� ���� ��	�
�������n�PDA���	�����������

������	���O(n3)���������������
���	����������	�����
��������	�������	��������������������
���������������������	����
�����
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��� CFGs� �'��"	
���� ��
	������� �����	
� %���� ��� � PDA�

+�� 	


��%� !������ 	 ���
��� � �
&���

����� �������� �������� 	� �����	
� ���
���� ��������� 	��
��
	�	� ��	�� 
�	�� ��� 
���	�� ����� ���� ���� �'��"	
���� CFGs�� &�
������� ��� ���� �������� ��	������������ 	� ���������	���
	�	�
������	��� ��	��������� ��	�� ��
�"�� ���� ������� ������������
��	�%��,���� ���
	

��� 	� ��	�������� (q', ε) ∈ δ (q, a, x)� � ��
�	

���	�popping transition��?���	����	��	�����������	����
����� ��� static� ��� 	��� ��
�� ��� ���� 	

�q∈  Q 	���x ∈ Γ �� �����
������� 	��
���� ���� ��	��� q'∈  Q� ����� ��	�� (q', ε) ∈ δ (q,
a, x)�� � ∀  a ∈ Σ �� ?�� �	�� ��	�� 	� ��������� 	���
	���� ��
popping static� ��� 	��� ��
�� ��� ���� �������� ��	��������� 	��
��	���� -��� ������� ��� PSPDA� 	� �������� ��	���� PDA.�� &�
�����������������	

�a, b ∈ Σ �������	���������(q', ε) ∈ δ (q,
a, x)� 	��� (q'', ε) ∈ δ (q, b, x)� 
�	�� ��� 	� �������� ��	���
��������� 	���
	���� ��� 	��� ��
�� ��� q'= q''.

2�%�� 
	��� ������ 
���
�� ��� ���
	
� 
	���	����� �����
����� 	���
	�	� �	"�� ���� "����@� 	� ����	����	
� "���� 	��� 	
��
	����	
� "����� )����� ��� ���������� 	� ���� %���� ��� ����
���"�	
� �
	��� ��� 	���
	�	�� ��� 
	%��� ������ ��� ��
�	��� ����
�
	��� ����� ���� ��	������	
� �
	����� ��� 	���
	�	�
3�"�������	���
	�	�A

1
 = (Q

1
, Σ

1
, Γ

1
, δ

1
, q

0,1
, Z

0,1
, F

1
)�	��

A
2
 = (Q

2
, Σ

2
, Γ

2
, δ

2
, q

0,2
, Z

0,2
, F

2
)�� ��� �	�� ��	�� A

1
� ��

����	����	

���'�	
������A
2
�-��������	��A

1
�=�A

2
.����	�����
�

��� Q
1
 = Q

2
�� Σ

1
 = Σ

2
, Γ

1
 = Γ

2
, δ

1
 = δ

2
, q

0,1
 = q

0,2
,

Z
0,1

 = Z
0,2
��	���F

1
 = F

2
�� &��������������� ����	���
	�	�	��

����	����	

�� �'�	
� ��� 	��� ��
�� ��� ����� ��������� �
�
���� ��
�
�
����

���� ��
	����	
� "���� ������� ��� ���� 	���
	�	1�� 	�����
�	���� ��� ��������"�� ������� ?�� �	�� ��	�� A

1
� 	��� A

2
� 	��

��
	����	

�� �'�	
� -�������� 	�� A
1
� ≡� A

2
�� 	
��� %����� 	�

�'��"	
���.�� ��� 	��� ��
�� ��� L(A
1
) = L(A

2
)�� 4�"����
��� ���

����	����	
��'�	
�������0��������1���	��������
	����	
��'�	
���
-���	������������	����	

���'�	
�	���
	�	�	�����
	����	

�
�'�	
�� ���.�

4��� �	�� 	�%� 	����� ���� ��
	��������� �������
PSPDA� 	��� ���� ��	������	
� �����
�������� PDA�� �� PDA
A = (Q, Σ, Γ, δ, q

0
, z

0
, F)� ��� deterministic� -�������� ��

DPDA.� ��� 	��� ��
�� ��� ���� ��

������ ����������� ��
�@

D

⊃�
⊃�

⊃�
⊃�

D
D

D
D

D

D

D
DD

{[q
1
, u, q

2
]   [q

3
, v, q

4
] =D

[q
1
, uv, q

4
] if q

2
 = q

3

Ø           otherwise

∗
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E� ������ ������� 	�� 
���� ���� ��	�������� δ(q, a, x)�� ���
	

� q ∈  Q�� a ∈ Σ   {ε}, x ∈ Γ B
E� &�� δ(q, a, x) � ≠� Ø � ���� ��
�� a� ∈ Σ �� ����
δ(q, ε, x)� = Ø�

+����PSPDA�	���DPDA�����	��������
����
���������
��	����������+���������	������	
�DPDA����������������
����

����	

���	�������������	���"���δ(q, a, x)�������	������PSPDA
��� 	� ��
	���� � "������� � ��� �����
����
� � ���� δ(q, a, x)� ��	�
��"���� ��
�� ���� �������� ��	���������

 �������	���������PDA������������A�	
�
��(����������
	�DPDA�	���PSPDA�	���
	�����*���"������������
�
����
��
�� 
����� ��	������ ��� ��	����� ���� 
�
��������� 2��� ��
����������A

1
�����	���
	����A���	���	������
������	��������

��	�� ����δ(q
2
, 0, x) = {(q

1
, ε)}�� ����� 	���
	���� '

,
� ��� ���



	�DPDA����������	�F)F=�����	���� �����	��� (q
2
, x)� ������

������� ��� ���� ��	����� ������ 	���� q
1
� 	��� q

2
�

4�������������	����
����������������A
2
�����	���
	���

A� ��	�� �	�� ���� 
���� ���������� � ��	��������� ��	�� ���
δ(q

1
, 0, x) = {(q

2
, ε)}�������	���
	����A

2
�������

�	�PSPDA�

���� ���� 	� DPDA� ���	���� δ(q
1
, 0, x)� ��� ���� ���'���

����	��"��������	���
	�	���	
�
���
���"	����������,�
����
	����A� ���
�A�	
�
�� (��� ��� �����PSPDA� 	��

DPDA������
	����A
1
�������
�PSPDA-DPDA�������	��A

2

������
�DPDA-PSPDA�

���� 	��"�� ��
�	������ �������� DPDA� 	��� F)F=�

�	�� ����� ����	����	

��� 	��� ���� ��
	����	

��� ���� ����� ���
��
����������	�� ������������"�����������PSPDA��'�	
�� ��
�������
���
	��������������������
	���	�����&�����%�������	�
DPDA� ����������� 	� ������� ���
������ ��� ���� �
	��� ��� ����
���������� 
	���	�����*������PSPDA��	"��������
��
�������
������"�� ������ ��	��DPDA�

#��
��&�+����Let G = (V, T, P, S) be an arbitrary
CFG with a representation of length n. Then there exists
a PSPDA A of size O(n) such that N(A) = L(G), that
can be generated using a linear time complexity algo-
rithm.

	�

�� &�� ���������

&�����%�������	��	��	�����	���PDA��	��������"��������
	�CFG��������
�:������������	��	��	�����	���CFG��	����
-
���	�
�.� ���"������ ��� 	�PSPDA�� ������ 	�� 	�����	���PDA
�	��������"����������	�PSPDA��)�����	���F)F=�����	�PDA�
��� ��

���� ��	�� ���� �
	��� ���PSPDA� �'�	
�� ��� ���� �
	��� ��
PDA��,����"���� �����
	������DPDA� ��� 	�������� ���
�����
���PSPDA�� ������� -� �

����	���� ������ ��
	����������

��������� ����
�� ���"��� ������
�
����������
������
�I�

�
�
����4� +���� If the input of Algorithm I is a
PSPDA automaton, then the equivalent CFG provided
as output has a linear size of the entire representation
of PSPDA. Algorithm I runs in linear time complexity.
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� "���� ���� PSPDA�� DPDA�� 	���PDA
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APPENDIX

	�

�� 
�� #��
��&� "���� 2���A = (Q, Σ, Γ, δ, q
0
, z

0
, F)�� ?�� �������G = (V, Σ, S, P)�� ������V = Σ   (Q × Γ  × Q)�

S = {(q
0
, z

0
, q) / q ∈  Q}�� 	��� P� ��� ��"��� ��@

i.  ��� 	

� k ≥ 1�� �	��� a ∈ Σ    {ε}�� �	��� z, z
1
, ..., z

k
� ∈ Γ �� �	��� q, p, q

1
, ..., q

k
 ∈ Q�

(q, z
1
, q

k
)  → a(p, z

1
, q

1
) (q

1
, z

2
, q

2
) ... (q

k-2
, z

k-1
, q

k-1
) (q

k-1
, z

k
, q

k
) if (p, z

1
 ... z

k
) ∈ δ (q, a, z)B

ii.(q, z, p) → a if (p, ε) ∈ δ (q, a, z)�

	�

��
��#��
��&�"�"����������������	�����������������	�������	���F = (V, P)� ���	���	

��	�������������"	
������	����
	�� 	�� ������� ��� ���� ���"����� 	
������
��  ��
��
������
� I�� -����� !.�� ��� ��� �	��� ��� ��
	�%� ��	��V

1
 ⊆  V

2
 ⊆  ... ⊆  V

j
 ⊆  V

j+1

⊆  ... ⊆  Q × Γ × Q��+���Q × Γ × Q� ���	� ������������	��� ���� ���
������	��	�� ���
�	��"�� ��� ��������������������� ∃ k ≥ 1�����
��	��V

k
 = V

k+1
� -��� ������� ��� �� ���� 
���
	
� �������� ������ �	�������� ����� ��������.�

+�� ������������� j��������"�� ��	��V
k
 = V

k+j
, ∀  j ≥ 1�������
�	��� ��	��V

k
� ��� ����
	��
	
���������������	���	�������
�

"	��	�
���� 2��� ��� ���	

� ��	�� 	� "	��	�
�� X� ��� 	�������
�� ��� ������ ������� 	� ����"	����� ���
� ���� ��	��� ��
��
� ��� 	� ������� ��	�
����	���� X�

�he Induction Basis:�  ��� j� = 1� ��� ��� ��"����� ��	�� ���� �'�	
����V
k
 = V

k+j
� ��
���

The Induction Step:�?����������V
k
 = V

k+l
��∀ � l ≤�j��	������
�������"�� ��	���

�
� �� �

k+l+1��+���Vk+l+1 = V
k+l

    SV�
������ SV� ��� ���� ���� ��� "	��	�
��� [q, X, temp[m]]� ������ ��� 	����� 	�� ����� �:� ��� �
������
� I�� )��� 	�� ����� �;
����
������
�I�� ���������������[q, A, temp[m]] → [q

1
, z

1
, temp[1]] [temp[1], z

2
, temp[2]] ... [temp[m - 1], z

m
, temp[m]]

��� 	����� ���P
k+1

�� ������ [q
1
, z

1
, temp[1]]�� [temp[1], z

2
, temp[2]], ..., [temp[m - 1], z

m
, temp[m]] ∈  V

k+l
�� +���V

k+l
�= V

k
�

-���
� ���� �������"�� ����������.�� ��� [q
1
, z

1
, temp[1]]�� [temp[1], z

2
, temp[2]], ..., [temp[m - 1], z

m
, temp[m]] ∈  V

k
.

����������V
k+l+1

 = V
k+1

�� �
���� ���
� ���� ���������� ����� ���� l = 1�� ��� ����
���V
k+1

 = V
k
�� *�����V

k+l+1
 = V

k
�� ������ ���
� ���

���������� �	���� 	��� ���� ���������� ������ ��� ����
��� ��	�� V
k
 = V

k+j
, ∀  j ≥ 1�

�����������V
k
 ⊆  Q × Γ × Q�� ����� � �
�
���� |V

k
| ≤ |Q|2 • |Γ |�� +��� ���� ��
���� ��� ����	������ ��� � �
������
� I� ��� 
���� ��

�'�	
� ��	�� |V
k
|�� *������ �	��� -ii.� ��� ����� ������
� ��� ���"���

������"���	���-i.������������	���
������
�I����"��������V
k
������������	�������
��"	��	�
���	������P

k
�����������������

�������������������	������������������
�9��;����
��#��� ��� ����
���L(G') = N(A)��������G'� ��� ����CFG� ���
�������
�(���
3�	

	��G� ���	���	

����
�
	�� �����	

	��G'������ �������	������
�� �������������������G'� ��	���	��	�������
����
��
������
������������ ���G'� ��	�� ����	��� ��	�������
�� ��
��
�� -��	�� ���� ��
��
�� ��	�� �	����� ��� ��	����� ��� 	��� ����"	����� ���
� ���
��	������ ��
��
�S.� 	��� ��� �	��� ���
����� ������ ����� 	��� ���� ��� ��� ������ ��� ���� ��	

	��G�� &�� ����
�������L(G) = L(G')�
������ ��� ��

���� ��	�� L(G) = N(A)�

?�� ���

� �	"�� ��� ���"�� ��	�� �
������
� I� ���"����� 	�� 	�� ������� ���� �������� ��	

	�� G�� )���� �� �����	
�����V
1
� ��� Ø�

��� ������ (�� :�� 	��� ;� ��� ���������� ���� 	�������
�� "	��	�
��� ������ 	�� ��������� ����"	����@

[q, A, q
1
] → a if and only if [q, A, q

1
]    a�

)��� ��� ���� ��	�� V
1
� ��� ���� ���� ��� 	�������
�� "	��	�
��� ������ 	�� ��������� ����"	�����

(V
k+1 = V

k
   {x | x → x

1
x

2
...x

k
, x

1
, x

2
, ..., x

k
 ∈  V

k
})�

)���������� ���������� ��	���������������V
k
� �����������	�������
��"	��	�
���	���P

k
� ��������������������
���� ��
�����

9������	"��V
k+1 = V

k
�� )����/� ������������ ��� 	�PDA� ��	�������� ���
���	���q�� ������ ��
��
�a 	��� ������� ��	�%�X�� ���� ���

�
�
� �	��m� "	��	�
��� ����� ��	�@

[q
1
, z

1
, temp[1]]   [temp'[1], z

2
, temp[2]] � � ...  [temp'[m-1], z

m
, temp[m]] = [q

1
' z

1
z

2
...z

m
, q].

���������� ��� =���������� ����� ��� ���	��@
temp[2] = temp'[2], temp[3] = temp'[3], ...,  temp[m-1] = temp'[m-1], q

1
  = q

1
'�� 	��� q = temp[m]�

&�� ∃  k ∈  {2, 3, ..., m}� ����� ��	�� temp[k] ≠ temp'[k]�� ��� ����
��� ��	������	"�� ��� ����� 	������� "	��	�
�� ���� ���� �������
��
������������������������	����"������������!�����9�����
������
�I������+��
�	��"	��	�
��ok����
�������!�����������"	
�	���
��� true� ��� 	��� ��
�� ��� 	

� ���� "	��	�
��� [q

1
, z

1
, temp[1]], [temp[1], z

2
, temp[2]], ..., [temp[m - 1], z

m
, temp[m]]� 
�	�� ��

���
��	
�������� )����� �$� ��� (�� ���������� ���� ��	��� ��
��
� ��� ���� ���� ��� "	��	�
��� 	��� 	��� ���� �������������� �����������
��� P

k
�� *������ 	

� ���� �����	���� "	��	�
��� 	��� 	�������
��� ������ ���� ������ ��� ������
� (�(� ��� ��
�
�����

	�

�� 
�� #��
��&� +���� ���� ������ ��

���� ������ ���� ��	������	
� 
������ ��� ���"������� 	� CFG� ����� 	�� �'��"	
����PDA
-������
� 9��:� ���
� �#�.�� 3�"��� G = (V, T, P, S)� 	�� 	�����	��� CFG�� ��� ��������� A� 	� PDA � �������� 	�
A = ({q}, T, V    T, δ, q, S)�� ������ ���� ��	�������� ��������� δ� ��� �������� ��@

• ���� �	�� x ∈  V, δ (q, ε, x) = {(q, x) | x → α ∈  P}B
• ���� �	��� a ∈  T, δ (q, a, a) = {(q, ε)}�
���� ������ �	��� ��� ���� ������ ��� �������	
� ����� ���� ��	������	
� ����
��� &�� �	���� ���� ��
���� ��� ��	��������� ��� ���� �'��"	
���
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PDA� �'�	
�� ��� |V|   |T|�� ��� A� �	�� �����O(n)� 	��� �	�� ��� �����	���� ������ 	� 
���	�� ��
�� ��
�
������ 	
������
�
?����������� ������"�� ��	��A� ��� 	�PSPDA�� &�������� �������� ��	�� �������������	��
���������������� ��	�������� ���� 	



q ∈  Q� 	���y ∈  V   T�� ��� ������������ ���� �	���@
• y ∈  T�� ����� ������ ��� ��	��
�� ���� �������� ��	��������� �	
�
�� δ (q, y, y) = {(q, ε)}B
• y ∈  V�� &��α ≠ ε� ����� ������ �������������� ��	�������� ����q�	���y��4���������� ���α = ε� ����� ������ �����	��
��������	��

q ∈  Q� ����� ��	�� (q, ε) ∈ δ (q, ε, y)�
&�� ����
�������'� ��� 	�PSPDA� 	���
	����� ������ ������
� :��� ��� ��
�
���
�� ���"���
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���
�
����4�+���� ���� ������ ��� ��
�
	�� ��� ������ ��� ������
�(�(�� )����� ���� ������ 	���
	����A� ���PSPDA�� ����
	��������� ��� �
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